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Problem 1 (20 points)

Compute the reaction forces and draw SFD and BMD for the beam in the following

figure.
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Problem 2 (25 Points)

For the beam shown below, in addition to the applied load, the support at D setiles by

0.05 m. EIis constant for the beam. E = 200GPa, /= 160(10% ) mm* .

(a) Compute the reactions at 4 and C and also vertical displacement at C.

(b) Draw the shear and moment curves.
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Problem 3 (25 Points)

Compute the reactions at 4 and D of the structure in the following figure by the slope-
deflection method and also sketch the deflected shape. EI is constant for all members.
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Problem 4 (25 Points)

Determine the support reactions at A and D in the following structure by the slope-
deflection method and also sketch the deflected shape. E is constant for all members.
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Problem 5 (30 Points)
Using the Muller-Breslau principle,

a) Draw the influence lines for the reaction at 4, C and E, the moment at D and

the shear at the left and right of support C (15 points).
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b) For the beam shown below, draw the influence lines for the moment and

vertical reaction at 4, the vertical reaction at C and E, the shear at B and D and

the moment at C and the shear at the left and right of support C (15 points).

8!

4"

12



